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si � S
� w = s1 ···s` Wort der Lange ` > 1

sn � Sn � n-Funktion W
sn←− W:··:W : sn w1 ··wn = sn w1 ··wn juxtaposition

0-symbol s0 � O = S0 = −W

1-symbol s1 � S1 � W
s1←−W : w y s1w

2-symbol s2 � S2 � W
s2←−W:W : z:w y s2zw
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O ableitbar � K (t) = −1
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t � W

K (t) = −1 abg
m W

K (o) = 0− 1 = −1: sn � Sn : t1 ··· tn � V
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= K
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snt1··tn
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n− 1
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w = t1 ··· tm : Endstuck von Term ist Term-Produkt
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−
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t = zw

w term product abg
l W
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·· tm
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1

i
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t
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·· tn term product

Ind

Satz
�

−
O l V

zw �
−
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−
O



−
O Peano
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